10. B: translation of 5 spaces Test 30
1. C: rotation of 90° around 1. B: cosecant :
the origin 2. D: secant o
12. A: R 3. B: cotangent
13. E: none 4. E: none of the above:
14. D: V:Each point on figure Q has itis the cotangent '
been to the left 5 and up 2. 5. A: secant e
15. B: S; Q has been translated and 6. C: cosecant ;
rotated, so its transformation 7 gt
includes rotation. ’ SN
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Test 29 , > A -
1. A: triangles :
2. C: right 10. & $=“/]§=E
3. D: cosine 4
4. A: tangent Tt 7=2
5. E: none of the above 12 g 4 >
6. B: B -
i 13 sin26+cosze=l
Zoi Bi L
B 4. g SO @ 8
8 E: A 44
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5 : J3 Unit Test III
1dist D = = = I
3 \—/ 3 \—/ 3 J 3
\/’; ﬁ 1. axiom or postulate
o - 3 2. dilation
12 30° 3 reﬂection
s 4 4. tangent
g i 5. secant
3g. hi 6. similar
5 7. sphere
15. B: % 8. cotangent
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UNIT TEST IIl - UNIT TEST 1l
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L=4/3;H=2(4)=
L=2a/3:H=2/3/2 =2/6
_6&/2 _6 _
both IegS—T——]—'—
shortleg=%=5
long leg=5\/?
Find length of hypotenuse:
42452 -2
16+25 = H2
41=H2
V41l =H
sinf = . FOSSN - | S5
Ja1  Jaida
5 5V 41
cos0 =
J 414 41
. A
tanb = 5
csce——‘/—‘j—-
4
sece-—‘/—4—]—
5
& S
cote = oy
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(X+4)+(2x+6)+(-5x) =12
X+2X+(-5X)+4+6=12
—2X+10=12
-2X=2
X=-1
X+4 (-1)+4=3
2X+6 2(-1)+6=-2+6=4
5" gy =s
Sides are 3, 4 and 5.
32442 =52
9+16=25
25=25: true
Since the Pythagorean theorem
applies, this is a right triangle.

Please note: The proofs given
here may not be the only valid
options. As long as each
statement is based on given
information, valid postulates,
definitions and theorems, or on
statements made previously
within the proof, the student's
proof can be considered correct.

AC bisects ZBAD given
/BCA = /DCA | given

Z/BAC = «DAC | a bisector divides
the angle into equal
parts

AC=AC| reflexive property

/BCA is aright angle | given
«DCA is a right angle supplementary angles
sBAC=aDAC| LA
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2.
BD I CE given
ZABD = ZACE | corresponding
angles
«BAD = £CAE | reflexive
property
AACE ~ AABD | AA
3.
mZADC = mZBCD =90° | definition of a
rectangle
DC=DC | reflexive property
AD = BC opposite sides of a
rectangle are
congruent (APT)
sADC = 2aBCD | SASorlLL
Final Exam
I
1. cosine
2. obtuse
3. arc
4. complementary
5. plane
6. trapezoid
7. cube
8. collinear
9. congruent
10. perimeter
II
1. trapezoid
2. X2
3. mZ6=msL8=60°

corresponding angles
m25=180°—(ms4+m.6) =
180°-(60°+90°) =

180°-150°= 30°

aBDC is a 30°-60°-90° triangle
hypotenuse = 8 in

BD (shortleg)=8+2=4in

BC (long leg) = 43
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«BEC is a right angle
/BEA is a right angle

UNIT TEST Il - FINAL B

mz14 =180°-mx«5 =

180°-30°=150°

no, line EC is not parallel to line AC

point E

Let X = length of AE

20 _ X
8 4

8x = (4)(20)

8X =80

X=10

First find length of AC:

AaEAC is a 30°-60°-90° triangle,

so the long leg is \/Etimes

the short leg or 10J?

AB= AC-BC =103 -4/3 =G

CE=CA

given
ZB= 4D given
ZACB = «DCE  vertical angles
AABC =ACDE  AAS
AB = BC given

BE = BE reflexive ¢
sABE = ACBE = IS
AE=CE  CPi.
T t =
, |
\' bkl
| N
< ‘1 = ] >

|
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S Bl e

V=33 3G et
3 3
-113.04 cm3
If the fractional value of &t is used,

the answer would be ll3.l4an3.
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